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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheel.

1- Before you -----—-—- to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute ~—----—- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -------—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- 1 never thought you would get so upset about such a -------- -- matter.
1) contradictory  2) consistent 3) colloguial 4) trivial

6- The police wondered about the man’s -—----—--- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, | expeet Ricky to -——-——-
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --——o- ' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
—————— dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to -———— their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to Kill unwanted plants.
Selective herbicides kill specific targets, (11) —=——e--—- the desired crop relatively unharmed.
Some of these act by interfering with (12) ====mm=mns and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) =====ee-es all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) —=eemenemn as wildlife habitat.

Some plants produce natural herbicides. (15) ====seeae- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed
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13- 1) and kill 2y killer of 3) to kall 4y which kill
14- 1) where set aside 2) in which they are set aside

3) that set aside 4) set aside
15- 1) either 2) such as 3) or 4) includes

PART C: Reading Comprehension

| Directions: Read the JSollowing two passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Following an earthquake, one watches video images of death and destruction. Within hours,
one hears loss estimates. revised continually as the days pass. Public officials guess at the loss
of litfe and structural damage. Insurers report on insured losses. These are the obvious losses.
but research indicates that many of the losses from extreme events occur in the weeks, months.
and years following. This is an exploratory narrative developed as part of an effort to
understand both losses from extreme events and the processes associated with recovering from
those losses. The nascent idea came from the Dr. Alesch, Dr. Holly, and PERI's observations
that many small businesses in communities that suffer disasters fail linancially as a direct
consequence of a disaster—even if (and here is the punch line) they suffered absolutely no
physical damage from the event.

16- According to the above passage:
1) Video images can show all damages caused by extreme events.
2) Public officials are more concerned about the insured losses.
3) All damages caused by an earthquake can be estimated within hours after the
earthquake.
4) Damages due to the processes associated with aftermath of an earthquake do
not end immediately right after the incident
17- According to the above passage the word nascent means:
1) Mature
2) Supporting
3) Easily available
4) Having recently come into existence
18- It can be concluded from the above passage that:
1) Loss of life might cause small businesses to fail financially.
2) Structural damages cause small businesses to fail financially.
3) Small businesses might be affected financially by a disaster even if they had
no physical damages.
4) Dr. Alesch and others believed that small businesses will be affected indirectly
from physical damages of other sectors in communities
19-  According to above passage the word estimate means:
I ) quantity 2) quality 3) evaluate 4) exact amount
20- According to the above passage the word suffer means:

1) Endure 2) Forbid 3) Refuse 4) Veto
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PASSAGE2:

Usually. any of the following situations should be caused flooding:
eheavy rainfall in/ around the vicinity, especially. if the specific location falls in
the pathway of the water-discharge system from the area receiving heavy
rainfall.
eif there is heavy rainfall/ flow of water/ accumulation of water, on the other side
of a boundary. e.g. across a dam, across a levy, side of a river-embankment etc.
because. these boundaries might get breached.
As can be seen, both the above situations can be predicted to a reasonable degree. These
days. the meteorological predictions are accurate enough for upto four to five days.
Hence, its usually possible to know about the possibility of heavy rainfall about four to
five days in advance.
Also. areas which are prone to heavy rainfall. cyclones. typhoons etc. are also well-
known. Hence. the predictability is very high even in long-term. in the sense. that
certain areas are known to be flood-prone. The advantage of long-term predictability is
that people might be able to take long- term precautionary measures also-requiring
heavy investments.

21-  Which title is suitable for the above passage?
1) Disaster management for flooding
2) Indicators of possible flooding
3) loss due to flooding
4) Prevention of flood
22- Usually, how much time in advance, one can predict the possibility of flooding?

1) A week 2) Maximum a week

3) About four to five days 4) Minimum four to five hours
23-  Which area is much prone to possible flooding?

1) a valley 2) ariver 3) a plain 4) a mound

24- Which following sentence is true?
1) The long-term predictability for flooding is not possible
2) The areas which are prone to heavy rainfall. are well-known
3) On the other side of the downstream of dams always are safe.
4) Generally. there is a embankment between huge mass of water. and people
living place.
25- What is the best synonym for cyclone?
1) windstorm 2) tempest 3) squall 4) rainstorm

In the following two questions, substitute the best meaning for specified words:
26- Breach

1) defect 2) gleam 3) perfect 4) reduction
27- Huge
1) big 2) gigantic 3) lanky 4) soaring

In the following three question, choose the best choice which completes each item:
28- Loss of trained people and specialized equipments, which in turn means significant -
------- o the speed of further rescue.

1) risk 2) foul 3) danger 4) impediment
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29- People -——-----—— the building could get hurt by falling debris from damaged
buildings, glasses, etc.
1) down 2) inside 3) outside 4) over

30- People who stay in an earthquake area might do well to make
investments in earthquake of their houses.
1) prone — proofing 2) motion - proofing
3) prone — safe 4) motion — safe
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